o) + :
& E
\‘:/008_—-- ---------------------------------
N = :
90.05__...............: .................................
o E :
V.04 ek
0.02F b P S P
OF : :
—0.02F -+ e rieeenee freneeen Feeeen freeeen P
—0.04f e Freeeeesdeene
~0.0Bf -+ rieeenee freneeen Feeeen freeeen P
—0.08F - +-ecieeeeedeneeene R SR
o-0.1E ""'
I : 5 5 5
04 r : : :
0.5 R s
-2 -1 0

Ratio

Ratio

< 0dy > (kM)

<op/p, > (%)

1 2 3
TP n (PCA to beamline)

$0.08
8
00.06
Vv
0.04
0.02

................................................

................................................

................................................

-0.02
-0.04
-0.06
-0.08

Ratio

0.5

-0.14 1E

1 2 3

—=— DQM_original_step2_ttbar-phasel-newgeom

—e— DQM_pixelCPE_step2_ttbar-phasel-newgeom
—— DQM_pixelCPEChi20R_step2_ttbar-phasel-newgeom

................................................

................................................

................................................

2

................................................

................................................

T2 73
TP n (PCA to beamline)

10

<dd,>(um)

................................................

................................................

................................................

2 3
TP n (PCA to beamline)



	Contents
	Page 1


